L RO H Sk

1:2,500

° 2 2 V-OF 22—4
o 2 ? o 2 !
134°52° 50 134°54° 0
. - ' 1275 71
ié 4 (22—1)
= b,
age \
11 5
: (272—'33) ) NEFTD
g maE N
: R
— FRREEENEBCREEDTRAL .,
: BOEA
5 1\:5“:5%
019
7°20°
b 23
5 5 A256 = B s
: - 2 & m25.62 Xk % s
1 =z5en ©25.6  EiERRE
v256 AHEEET
1 imom & | m2562 RFEET
25.6 %E%ﬁbgu
[l iEEoRER | 55 ELRE ol 15
o) B 4 B oo &
VN T m B = BT 55 ——— —
T esw| . pan AT ER R
& B OB =2 L 2 2 B allE] 2
® % & & I (At IF &P ETIE X 1341 )
X AMEEE 2 % % @ .
X =& - BERM + 535 FH?_’%iﬂ—j'?Ejz*
v M B OB - B B YE & FIPR Hhish 57
® BERER -~ Ry -0
0§43 0 wm R EHE A —
H P # A I (5tER)
— 1280 TR 5 0 - ARE i
+  #UzrES 4/ B OE M EThEtE N E
X * ® O A
B @ PEE  REE i & =z _
® ARE - ARR O x = # %BFFJE'I'Eﬁiﬂ’,
0y £ AK— L & B ow %
® ® & % T & D e .
@ % B A i - EEE 2 —
Fﬁ g ® 7 B i 8 B A
® HhEMA m A m| — e — AT
> 8 . = men.man sEMA®X |
*x W OE B o e Y]
ol T 5 R WEE S =
&>z B A i e & Ho DR AT IBI X 22
-~ BEARY T = P WS
D EVDBPFCMIN I h = Fﬁﬁﬂﬂiﬂjﬁ ——— — —
® B # 5 A 0
— R B BEREEE A
N N = =
———® B o | —BEOBE KEEMOE = RET10m
eI —
———————— b 5 B | B R W E E_REBEEERMME
— % —— =% # XEEYMOE SREIOM
T T(EET)” T RROER @) | BRI OKE
—seoows | HE={vi0d FE—ERE R EE A
— c—sxorvxL — E=#uorvzu
BN 11 _ -
% B % % 8 ® FEIRERSEEEEAMMIE
| —— e 5 — I — #EOSELE
AR | = BERLE
seeeey x| em o omom E—FE (T Eithig
T AT HE | - - ZE 8@ R
t # F | # & R F iR {FEihi
————# # R®
— K - RR ——— BIAY - EESHORR ﬁﬂﬁﬁ%ﬂﬂﬁ
—— EBEORFR  —— — A7 ¥ (D) R
—— - TRIIRR —_— - B R %I%iﬂiﬁ
e ' m | ° RuE |~ | ® E
! e Y T EHhig
iq ¢ zoe9, i "
N o 1
N 58 B A N j LR Ij%%ﬁﬁﬂﬂﬁ
IR ¥ 2 PR i R 5k LB
M A T . (@%%200%/E&L\$60%)
2 85~ &“F
Y A A LA N
Hh i WL 53 2 Rl X
®om| oalm oK L R
= e e VO s -
_ \ - A AR R DR
=] Hh i3 & B E X
o
N -
" EEMRFER AKX
%020 U— NS
B R
EREFHEHMK
EXRTETHNBEHMK
SXREHHEFHX
LR 2 [X
BERAETR | 4EELXBREREOSOREI
LBEVEBER
ST ACS PPN b EERESHMK
5 TEHBSEEERG. AR NG
-g MBCRRLUCHDEBEBEFOA—NLEAL
| 3 BBIEO. 540X — N LER Y5 7E & FI PR Hhish 57
—-129.0 —— — _1o90 | BEEREZ. ERBHER
5 13452 50 o o 0 19eeo o HBCRRLCHIRMERRE | OVMM
% % D o § BCOEERERBOTYEET
ZEROBMMBIE2 A — N
E—m54¢7ﬂu§ (1);15??[5] EE?ii]Séﬁ e L any e 1:2,500 CORERRE. B ERROEAR AR CRARMEDRZMERE ZriEmER%TE MM A V_OF 22_4
] [i] - ) N Y = = <
EEE@giEIEE M ERSAE 2R 7 0 | 100 | 200 | 300 | 400 | 500m EERL CREEDTHS
TR SEEE EL ¥m 8% 3A o ' ' ; ; ' ' ' : (RRES) T2 7HAE 208
- = EE ¥H16% 38
T2 8FEEE (2) % ¥H27F 57

BE ¥H28%F 3A



